


Test of 16 visually equally spaced steps of the colour row¢-R, W-G,, W-B,, and W-N
according to picture D4W-100-0

W-R, White — Orangered: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-G,White — Leafgreen: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-B White - Violetblue: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-N White - Black: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
Test of characters and Landolt-rings in four sizes according to picture D5WL00-0

Is the recognition frequency > 50% for letters (17 from 32 at least) and for Landolt-rings (minimum 5 of
Relative size Letters Riny RingR, Ring G, RingB
10 Yes/No Yes/No Yes/No Yes/No Yesto
8 Yes/No Yes/No Yes/No Yes/No Yes/No
6 Yes/No Yes/No Yes/No Yes/No Yes/No
4 Yes/No Yes/No Yes/No Yes/No Yes/No

Test of recognition frequency of Landolt-ringsW-R, W-G,, W-B,, and W-N
according to pictures D6W100-Q and D7W-100-0
Is the recognition frequency of the Landolt-rings > 50% (min. 5 of 8 at least)?

Colour rowW-R, Colour rowW-G, Colour rowW-B, Colour rowW-N
background - ring background - ring background - ring background - ring
0-1 Yes/No 0-1 Yes/No 0-1 Yes/No 0-1 Yes/Nd
7-8 Yes/No 7-8 Yes/No 7-8 Yes/No 7-8 Yes/Nd
E-F Yes/No E-F Yes/No E-F Yes/No E-F Yes/Ng
2-0 Yes/No 2-0 Yes/No 2-0 Yes/No 2-0 Yes/Ng
8-6 Yes/No 8-6 Yes/No 8-6 Yes/No 8-6 Yes/Nd
F-D Yes/No F-D Yes/No F-D Yes/No F-D Yes/No
Part OE681-3A-100-1

Step:
Step:
Step:

Step:



For linearized output of the 16 grey step®iofure A7-100-2

W 1.00T (dash-star) coordinates to reach , <
the linearized output with the real
w*output | . p ) Al
, display reflection in office room; 4
w*output | N s
lighter (positiv P) output s
, 1.0
4w = [w* /
0,751 w output [Winput] 4

0,501
* (star-dash) coordinates

of real output with real
display reflection in office room;
darker (negativ N) output

0,25-
W*c’)utput - [WTnput] 10
w*input
N 0,00 #—4— : : : |
N 0,07/ 0,25 0,50 0,75 1,00 W

ya
OE681-3A-100-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Test of 16 visually equally spaced steps of the colour row¢-R, W-G,, W-B,, and W-N
according to picture D4W-101-0

W-R, White — Orangered: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-G,White — Leafgreen: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-B White - Violetblue: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-N White - Black: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
Test of characters and Landolt-rings in four sizes according to picture D5WL01-0

Is the recognition frequency > 50% for letters (17 from 32 at least) and for Landolt-rings (minimum 5 of
Relative size Letters Riny RingR, Ring G, RingB
10 Yes/No Yes/No Yes/No Yes/No Yesto
8 Yes/No Yes/No Yes/No Yes/No Yes/No
6 Yes/No Yes/No Yes/No Yes/No Yes/No
4 Yes/No Yes/No Yes/No Yes/No Yes/No

Test of recognition frequency of Landolt-ringsW-R, W-G,, W-B,, and W-N
according to pictures D6W101-Q and D7W-101-0
Is the recognition frequency of the Landolt-rings > 50% (min. 5 of 8 at least)?

Colour rowW-R, Colour rowW-G, Colour rowW-B, Colour rowW-N
background - ring background - ring background - ring background - ring
0-1 Yes/No 0-1 Yes/No 0-1 Yes/No 0-1 Yes/Nd
7-8 Yes/No 7-8 Yes/No 7-8 Yes/No 7-8 Yes/Nd
E-F Yes/No E-F Yes/No E-F Yes/No E-F Yes/Ng
2-0 Yes/No 2-0 Yes/No 2-0 Yes/No 2-0 Yes/Ng
8-6 Yes/No 8-6 Yes/No 8-6 Yes/No 8-6 Yes/Nd
F-D Yes/No F-D Yes/No F-D Yes/No F-D Yes/No
Part OE681-3A-101-1

Step:
Step:
Step:

Step:



For linearized output of the 16 grey step®iofure A7-101-2

W 1.00T (dash-star) coordinates to reach 7
the linearized output with the real
w*output | _ p , // d
, display reflection in office room; W
w*output | N /
lighter (positiv P) output /, 6/
i — ok 0.847 2%/,
0,751 w output [Winput] ////
//

0,501
* (star-dash) coordinates

of real output with real
display reflection in office room;
darker (negativ N) output

0,251
W*c’)utput - [WTnput] 118
w*input
N 0,00 } } |
N 0,07 0,25 0,50 0,75 1,00 W

ya
OE681-3A-101-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Test of 16 visually equally spaced steps of the colour row¢-R, W-G,, W-B,, and W-N
according to picture D4W-102-0

W-R, White — Orangered: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-G,White — Leafgreen: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-B White - Violetblue: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-N White - Black: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
Test of characters and Landolt-rings in four sizes according to picture D5WL02-0

Is the recognition frequency > 50% for letters (17 from 32 at least) and for Landolt-rings (minimum 5 of
Relative size Letters Riny RingR, Ring G, RingB
10 Yes/No Yes/No Yes/No Yes/No Yesto
8 Yes/No Yes/No Yes/No Yes/No Yes/No
6 Yes/No Yes/No Yes/No Yes/No Yes/No
4 Yes/No Yes/No Yes/No Yes/No Yes/No

Test of recognition frequency of Landolt-ringsW-R, W-G,, W-B,, and W-N
according to pictures D6W102-Q and D7W-102-0
Is the recognition frequency of the Landolt-rings > 50% (min. 5 of 8 at least)?

Colour rowW-R, Colour rowW-G, Colour rowW-B, Colour rowW-N
background - ring background - ring background - ring background - ring
0-1 Yes/No 0-1 Yes/No 0-1 Yes/No 0-1 Yes/Nd
7-8 Yes/No 7-8 Yes/No 7-8 Yes/No 7-8 Yes/Nd
E-F Yes/No E-F Yes/No E-F Yes/No E-F Yes/Ng
2-0 Yes/No 2-0 Yes/No 2-0 Yes/No 2-0 Yes/Ng
8-6 Yes/No 8-6 Yes/No 8-6 Yes/No 8-6 Yes/Nd
F-D Yes/No F-D Yes/No F-D Yes/No F-D Yes/No
Part OE681-3A-102-1

Step:
Step:
Step:

Step:



For linearized output of the 16 grey step®iofure A7-102-2

W 1,007 "* (dash-star) coordinates to reach 7
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

0,754 w =W ] 0.735

output input

w* output
w'*output

0,501
* (star-dash) coordinates

of real output with real
display reflection in office room;
darker (negativ N) output

0,251
W*c’)utput - [WTnput] 136
w*input
N 0,00 > } } } } |
N 0,07 0,25 0,50 0,75 1,00 W

ya
OE681-3A-102-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Test of 16 visually equally spaced steps of the colour row¢-R, W-G,, W-B,, and W-N
according to picture D4W-103-0

W-R, White — Orangered: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-G,White — Leafgreen: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-B White - Violetblue: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-N White - Black: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
Test of characters and Landolt-rings in four sizes according to picture D5WL03-0

Is the recognition frequency > 50% for letters (17 from 32 at least) and for Landolt-rings (minimum 5 of
Relative size Letters Riny RingR, Ring G, RingB
10 Yes/No Yes/No Yes/No Yes/No Yesto
8 Yes/No Yes/No Yes/No Yes/No Yes/No
6 Yes/No Yes/No Yes/No Yes/No Yes/No
4 Yes/No Yes/No Yes/No Yes/No Yes/No

Test of recognition frequency of Landolt-ringsW-R, W-G,, W-B,, and W-N
according to pictures D6W103-Q and D7W-103-0
Is the recognition frequency of the Landolt-rings > 50% (min. 5 of 8 at least)?

Colour rowW-R, Colour rowW-G, Colour rowW-B, Colour rowW-N
background - ring background - ring background - ring background - ring
0-1 Yes/No 0-1 Yes/No 0-1 Yes/No 0-1 Yes/Nd
7-8 Yes/No 7-8 Yes/No 7-8 Yes/No 7-8 Yes/Nd
E-F Yes/No E-F Yes/No E-F Yes/No E-F Yes/Ng
2-0 Yes/No 2-0 Yes/No 2-0 Yes/No 2-0 Yes/Ng
8-6 Yes/No 8-6 Yes/No 8-6 Yes/No 8-6 Yes/Nd
F-D Yes/No F-D Yes/No F-D Yes/No F-D Yes/No
Part OE681-3A-103-1

Step:
Step:
Step:

Step:



For linearized output of the 16 grey step®iofure A7-103-2

W 1.00T "* (dash-star) coordinates to reach 7
the linearized output with the real

w*output | .
, display reflection in office room;
w*output | .
lighter (positiv P) output
i — ok 0.649 P
0,751 w output [Winput] s

0,501
* (star-dash) coordinates

of real output with real
display reflection in office room;

0,251 darker (negativ N) output

W*c’)utput - [WTnput] 154
w*input
N 0,00 #== : : |
N 0,07 0,25 0,50 0,75 1,00 W

ya
OE681-3A-103-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Test of 16 visually equally spaced steps of the colour row¢-R, W-G,, W-B,, and W-N
according to picture D4W-104-0

W-R, White — Orangered: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-G,White — Leafgreen: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-B White - Violetblue: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-N White - Black: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
Test of characters and Landolt-rings in four sizes according to picture D5WL04-0

Is the recognition frequency > 50% for letters (17 from 32 at least) and for Landolt-rings (minimum 5 of
Relative size Letters Riny RingR, Ring G, RingB
10 Yes/No Yes/No Yes/No Yes/No Yesto
8 Yes/No Yes/No Yes/No Yes/No Yes/No
6 Yes/No Yes/No Yes/No Yes/No Yes/No
4 Yes/No Yes/No Yes/No Yes/No Yes/No

Test of recognition frequency of Landolt-ringsW-R, W-G,, W-B,, and W-N
according to pictures D6W104-Q and D7W-104-0
Is the recognition frequency of the Landolt-rings > 50% (min. 5 of 8 at least)?

Colour rowW-R, Colour rowW-G, Colour rowW-B, Colour rowW-N
background - ring background - ring background - ring background - ring
0-1 Yes/No 0-1 Yes/No 0-1 Yes/No 0-1 Yes/Nd
7-8 Yes/No 7-8 Yes/No 7-8 Yes/No 7-8 Yes/Nd
E-F Yes/No E-F Yes/No E-F Yes/No E-F Yes/Ng
2-0 Yes/No 2-0 Yes/No 2-0 Yes/No 2-0 Yes/Ng
8-6 Yes/No 8-6 Yes/No 8-6 Yes/No 8-6 Yes/Nd
F-D Yes/No F-D Yes/No F-D Yes/No F-D Yes/No
Part OE681-3A-104-1

Step:
Step:
Step:

Step:



For linearized output of the 16 grey step®iofure A7-104-2

W 1.00T "* (dash-star) coordinates to reach 7
the linearized output with the real

w*output | .
, display reflection in office room;
w*output | .
lighter (positiv P) output
i — ok 0.581
0,751 w output [Winput]

0,501
* (star-dash) coordinates

of real output with real
display reflection in office room;

0,251 darker (negativ N) output

W*c’)utput - [WTnput] L2
w*input
N 0,00 > } } |
N 0,07 0,25 0,50 0,75 1,00 W

ya
OE681-3A-104-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Test of 16 visually equally spaced steps of the colour row¢-R, W-G,, W-B,, and W-N
according to picture D4W-105-0

W-R, White — Orangered: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-G,White — Leafgreen: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-B White - Violetblue: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-N White - Black: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
Test of characters and Landolt-rings in four sizes according to picture D5WL05-0

Is the recognition frequency > 50% for letters (17 from 32 at least) and for Landolt-rings (minimum 5 of
Relative size Letters Riny RingR, Ring G, RingB
10 Yes/No Yes/No Yes/No Yes/No Yesto
8 Yes/No Yes/No Yes/No Yes/No Yes/No
6 Yes/No Yes/No Yes/No Yes/No Yes/No
4 Yes/No Yes/No Yes/No Yes/No Yes/No

Test of recognition frequency of Landolt-ringsW-R, W-G,, W-B,, and W-N
according to pictures D6W105-Q and D7W-105-0
Is the recognition frequency of the Landolt-rings > 50% (min. 5 of 8 at least)?

Colour rowW-R, Colour rowW-G, Colour rowW-B, Colour rowW-N
background - ring background - ring background - ring background - ring
0-1 Yes/No 0-1 Yes/No 0-1 Yes/No 0-1 Yes/Nd
7-8 Yes/No 7-8 Yes/No 7-8 Yes/No 7-8 Yes/Nd
E-F Yes/No E-F Yes/No E-F Yes/No E-F Yes/Ng
2-0 Yes/No 2-0 Yes/No 2-0 Yes/No 2-0 Yes/Ng
8-6 Yes/No 8-6 Yes/No 8-6 Yes/No 8-6 Yes/Nd
F-D Yes/No F-D Yes/No F-D Yes/No F-D Yes/No
Part OE681-3A-105-1

Step:
Step:
Step:

Step:



For linearized output of the 16 grey step®iofure A7-105-2

W 1.00T "* (dash-star) coordinates to reach 7

. the linearized output with the real
wroutput display reflection in office room;
woutput | Py TETEe ' .
lighter (positiv P) output s
i — ok 0.526 o
0,751 w output Winput] // s /
-
/
/

0,501
* (star-dash) coordinates

of real output with real
display reflection in office room;
darker (negativ N) output

0,251
W*c’)utput - [WTnput] 19
w*input
N 0,00 = } } |
N 0,07 0,25 0,50 0,75 1,00 W

ya
OE681-3A-105-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Test of 16 visually equally spaced steps of the colour row¢-R, W-G,, W-B,, and W-N
according to picture D4W-106-0

W-R, White — Orangered: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-G,White — Leafgreen: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-B White - Violetblue: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-N White - Black: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
Test of characters and Landolt-rings in four sizes according to picture D5WL06-0

Is the recognition frequency > 50% for letters (17 from 32 at least) and for Landolt-rings (minimum 5 of
Relative size Letters Riny RingR, Ring G, RingB
10 Yes/No Yes/No Yes/No Yes/No Yesto
8 Yes/No Yes/No Yes/No Yes/No Yes/No
6 Yes/No Yes/No Yes/No Yes/No Yes/No
4 Yes/No Yes/No Yes/No Yes/No Yes/No

Test of recognition frequency of Landolt-ringsW-R, W-G,, W-B,, and W-N
according to pictures D6W106-Q and D7W-106-0
Is the recognition frequency of the Landolt-rings > 50% (min. 5 of 8 at least)?

Colour rowW-R, Colour rowW-G, Colour rowW-B, Colour rowW-N
background - ring background - ring background - ring background - ring
0-1 Yes/No 0-1 Yes/No 0-1 Yes/No 0-1 Yes/Nd
7-8 Yes/No 7-8 Yes/No 7-8 Yes/No 7-8 Yes/Nd
E-F Yes/No E-F Yes/No E-F Yes/No E-F Yes/Ng
2-0 Yes/No 2-0 Yes/No 2-0 Yes/No 2-0 Yes/Ng
8-6 Yes/No 8-6 Yes/No 8-6 Yes/No 8-6 Yes/Nd
F-D Yes/No F-D Yes/No F-D Yes/No F-D Yes/No
Part OE681-3A-106-1

Step:
Step:
Step:

Step:



For linearized output of the 16 grey step®iofure A7-106-2

W 1.00T "* (dash-star) coordinates to reach 7

. the linearized output with the real
wroutput display reflection in office room;
woutput | Py TETEe ' -
lighter (positiv P) output P
i — ok 0.481 &
0,751 w output Winput] // s /

0,501
* (star-dash) coordinates

of real output with real
display reflection in office room;
darker (negativ N) output

0,25-
W*c’)utput - [WTnput] 208
w*input
N 0,00 = =, : : : |
N 0,07/ 0,25 0,50 0,75 1,00 W

ya
OE681-3A-106-2: File: Measure unknown; Device: Device unknown; Date: Date unknown







Test of 16 visually equally spaced steps of the colour row¢-R, W-G,, W-B,, and W-N
according to picture D4W-107-0

W-R, White — Orangered: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-G,White — Leafgreen: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-B White - Violetblue: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
W-N White - Black: Are all the 16 steps distinguishable? Yes/No

If No: How many steps can be distinguished? of the given 16 steps ...........,
Test of characters and Landolt-rings in four sizes according to picture D5WL07-0

Is the recognition frequency > 50% for letters (17 from 32 at least) and for Landolt-rings (minimum 5 of
Relative size Letters Riny RingR, Ring G, RingB
10 Yes/No Yes/No Yes/No Yes/No Yesto
8 Yes/No Yes/No Yes/No Yes/No Yes/No
6 Yes/No Yes/No Yes/No Yes/No Yes/No
4 Yes/No Yes/No Yes/No Yes/No Yes/No

Test of recognition frequency of Landolt-ringsW-R, W-G,, W-B,, and W-N
according to pictures D6W107-Q and D7W-107-0
Is the recognition frequency of the Landolt-rings > 50% (min. 5 of 8 at least)?

Colour rowW-R, Colour rowW-G, Colour rowW-B, Colour rowW-N
background - ring background - ring background - ring background - ring
0-1 Yes/No 0-1 Yes/No 0-1 Yes/No 0-1 Yes/Nd
7-8 Yes/No 7-8 Yes/No 7-8 Yes/No 7-8 Yes/Nd
E-F Yes/No E-F Yes/No E-F Yes/No E-F Yes/Ng
2-0 Yes/No 2-0 Yes/No 2-0 Yes/No 2-0 Yes/Ng
8-6 Yes/No 8-6 Yes/No 8-6 Yes/No 8-6 Yes/Nd
F-D Yes/No F-D Yes/No F-D Yes/No F-D Yes/No
Part OE681-3A-107-1

Step:
Step:
Step:

Step:



For linearized output of the 16 grey step®iofure A7-107-2

W 1.00T "* (dash-star) coordinates to reach /

. the linearized output with the real
wroutput display reflection in office room;
woutput | Py TETEe ' -
lighter (positiv P) output &
Low  —qps 70442,
0,75 Woutput_[winput] // s
, 4
/
/
/

0,501 /
* (star-dash) coordinates

of real output with real
display reflection in office room;
darker (negativ N) output

0,251
W*c’)utput - [WTnput] 220
w*input
N 0,00 - } } } |
N 0,07 0,25 0,50 0,75 1,00 W

ya
OE681-3A-107-2: File: Measure unknown; Device: Device unknown; Date: Date unknown




